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1. Express a speed of 18 km/h in meter per second.

B3 JBoB Dewsv’FY 18 3cbe / Mo SenSJ,

dgé&%. [Airforce Group Y 2018]
(a) 3 (b) 7
(c)5 (d)9

2. A car covers 400 m in 20 s. Find the average speed
(in km/h) of the car.

20w St 20 JIBFoDRYY 400 cbe. 520 Joex0

SRy (3V/MORY) ZoRBEAD.

[RRB ALP 2019]
(a) 124
(c) 108

(b) 36
(d) 72

3. How much distance will a bus cover in 8 h, if it is
moving with a uniform speed of 37 km/h?

37 km/h &80pex3 Send® BODIGS, 8 rodrnived
VT AR, BRI, BHDST?

[Allahabad Bank Clerk 2010]
(b) 289 km
(d) 276 km

(a) 246 km
(c) 296 km
(e) None of these

4. At an average speed of 80 km/h Shatabdi Express
reaches Ranchi from Kolkata in 7 h. Then, the distance
between Kolkata and Ranchi is

TR0 80 de/mo JendY Fzer) aF JTF
dee), 5000 Toodrt 7 RotInYY BnmxBd. J0ST,

Bee), 9 DF) 02023 SRR 0BT OR),

[SSC CGL 2016]
(b) 506 km
(d) 650 m

(a) 560 km
(c) 560 m

5. A person covers a certain distance in 6 h, if travels at
40 km/h. If he has to cover the same distance in 4 h,
then his speed must be

40 3cde/mo Send ByaeeddTT, wey F3adw 6
RoLIN¥Y ADFE, BRTSIY, bW, V3D BTt
@BRTSRY, 4 NoLndy 3TeIesoss, o33 e

OR), VTR [SSC MTS 2017]
(a) 50 km/h (b) 80 km/h
(c) 70 km/h (d) 60 km/h

6. A man covered a distance of 96 km in 12 h by a
bicycle. How much distance will he cover by a
motorbike in 7h, if he rides the motorbike at six times
the speed of the bicycle?

we) B3 96 3.ve @edBp 12 noednvd < zef
0B FNAW. WRBSF | 8D Bew, SO

aifaemd)afésdg( LBITT, 3D 7roe3odhe
See300%U B aR), BRTSI, BDWTIS?
(CBC Clerk 2011)
(a) 448 km (b) 336 km
(c) 316 km (d) 428 km

(e) None of the above

7. A man has to cover a distance of 6 km in 45 min. If
he covers one-half of the distance in 2 rd time, what
should be his speed to cover 3 the remaining distance
in the remaining time?

W) DIDF 6 3.e BRI, 45 ADAINYY
33D, o3D 2 Je

Be0SR,  FWITT, GLPE  JHaLBY 3 eved

BRTSRY, T OIS Sen o), w3IeBD?

(a) 12 km/h (b) 16 km/h
(c) 3 km/h (d) 8 km/h

ST OTETR)
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8. A man walked at a speed of 4 km/h from point A to
Band came back from point B to A at the speed of 6
km/h. What would be the ratio of the time taken by the
man in walking from point A to B to that from point B
to A?

we) B3 A DoWIN0B 0Tt 4 dcde / o
Send) IBD 6 e / o Send) B DothdAod

AR HOSDHNBD. A VoDAN0B B 17 Jdodew
DIFRD SrDIPNS IDhT DTS B od

AR ox)? [Corporation Bank PO 2009]
(a)5:3 (b)2:3

(c)2:1 (d)3:2

(e)4:3

9. A truck covers a distance.of.360 km in.8.h..A.car
covers the same distance in 6 h. What is the respective
ratio between the speeds of the truck and the car?

£35° 8 Motdn¥® 360 3e TBRPTIT, FHWST.
20w o 6 mMoednvd e BRITI, BDDST.
£35° DR 308 INB SRDAT TVoW0RSB DHeS
AD?

(a)3:5
(cJ1:2
(e) None of these

[IBPS Clerk 2012]

(b)3:4
(d)4:5

10. A bus covers a distance of 300 km in 7 %2 h and
another bus covers a distance of 450 km in 9 h. The
ratio of their speeds will be

20t wa, 300 dde TeO[RY 7 % Moeinved
3DDIT DB B0 WY, 9 HoLiive 450
8be TRUSRY FADIT. oY St D3I

QDIT OD? [RRB Group D 2012]
(a)2:3 (b)4:3
(c)a:5 (d)8:9

11. A truck covers a distance of 640 km in 10 h. A car
covers the same distance in 8 h. What is the respective
ratio between the speed of the truck and the car?

835 10 noeIndd 640 dcbe BROIIY, 3DEST.

w0 Zod 8 roednvd wde BATIRY FHLWDIT.
835 DI 303 Fend SRDIT VoS DTS
a?

(a)3:4
(c)5:6
(e) None of these

[IBPS Clerk 2011]

(b)1:2
(d)6:7

12. A man wants to cover 50 km on his bicycle at a
speed of 12.5 km/h. After every 12.5 km, he takes rest
for 20 min. How long will he take to cover the whole
distance?

2, dgcm) 33, ©3;30°3Q rogdri 12.5 3ce
Send® 50 dcbe BT DB, S 12.5
3t J0380, 3D 20 AINY Zow JT03
Srd3eRWSe0. 2B BRTT, &bV OTI Ow),
Jhad SrchEeTeS?

(a)5h (b) 4 h 20 min

(c)eh (d) 5 h 20 min

13. Excluding stoppages, the speed of a bus is 40 km/h
and including stoppages it is 30 km/h. For how many
minutes did the bus stop per hour?

QVNENYRY, BRTDBBD, WTF Seriy 40 dcbe /
no &) ANENYRY, w¥rieodod wmd 30 dcbe /
ro. Rotdrt AR, W), AR AVST?

(b) 10 min
(d) 15 min

(a) 9 min
(c) 12 min
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14. Ram and Rahim standing at a distance of 680 m, run
towards each other at a speed of 8 m/s and 9 m/s
respectively. After how long will they meet?

TodF @) TedF 680 e @BedBY Aodwd,
ZDeN 8 e/F D) 9 /T Jend) STIT

L@ET. 93D cDa’% AN A] 033
eSee3adrorh@ad? [RRB NTPC 2018]
(a) 17 s (b) 24 s

(c)40s (d)36s

15. Two buses are moving towards each other with the
speed of 20 km/h and 34 km/h respectively. What will
be the distance between the two buses before one
second they collide?

A0 IR FDaeN 20 e / no_DA) 34
3ve / ro Sendy VT3 JIODES. wotd JSorF
Q3,03 Sedey AT, WIFRY IDIS W38T

oR),? [SSC (102) 2018]
(a)21m (b) 18 m
(c)12m (d) 15 m

16. A man travelled a distance of 61 km in 9 h. He
travelled partly on foot at 4 km/h and partly on bicycle
at 9 km/h. What is the distance (in km) travelled on
foot?

22) 3 9 MoV 61 3de CACHR) FADITHD.
DD 2arid: o0Br0be 4 e / ro ) worids
25,3300 9 8 / ro FairesdTd. HegBriabO
BARBIT TT (SDENVY) omy?

[Delhi Police MTS 2017]
(b) 14
(d) 16

(a) 13
(c) 15

17. A thief is noticed by a policeman from a distance of
200 m. The thief starts running and the policeman
chases him. The thief and the policeman run at the rate
of 10 km/h and 11 km/h, respectively. The distance
between them after 6 min will be

2 YRR 200 e BRBBOT &peded MDAV .
3Y, LBW HYToNDTIN DR BT OTIY,
BIEDTIS. 3Y, DA pededD FbhezeN 10 Scbe /
ro D) 11 3cbe / Ro IenBY LT, 6 ADRAY

S0B3 FYY DS WoBTY) OR), ADST?

[SSC MTS 2013]
(b) 180 m
(d) 125 m

(a) 100 m
(c) 150 m

18. A boy goes to school with a speed of 2 km/h and
returns with a speed of 3 km/h. If he takes 2 h and 30
min .to go to school and return, then what is the
distance between his school and home?

Wy @A noedt 2 e Ik zednt
ez DD noedt 3 SenzO
HOBVHTIN. B Tt @eeN doddriew 2
ot 30 ADd 3rihBeoRT, ¥3S T DA

DI SDAIT 90383 d@),?

(a) 6 km (b) 5 km
(c) 4 km (d) 3km

3ce

[MP Patwari 2017]

19. A man travelled from a point A to Bat a rate of 25
km/h and walked back at a rate of 4 km/h. If the whole
journey took 5 h 48 min, then distance between A and
Bis

W) 3D A DoDAVT WLFT 25 e / 1o
deﬁd@m B)00e3BRD DI roe3nt 4 3e a?eﬁd@m
HOBDHNTD. @le B30y 5 mo 48 Qcﬁ)ﬁﬁ?d&
3RBR0T3, A DD B IR 033 cDoTi‘)J?

[AFCAT 2017},
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(a) 30 km
(c) 20 km

(b) 24 km
(d) 51.6 km

20. 50 trees are standing in a line such that distance
between any two consecutive trees is same. A car takes
18 s to travel from 13th tree to 34th tree. How much
time (in seconds) will it take to reach from 1st tree to
50th tree?

B33 o0 WOMY IDAS 9033 wode BT
50 honwh OSY 8. wowd B 13 e
0BT 34 Fe DT, FoessTen 18 BBV,
SRDBPNIS. 15¢ VDG 503 T3, Sy
om), Sad (FB0ENVY) Srchdewy3a?

[SSC CPO 2017]
(a) 42 (b) 42.85
(c) 45 (d) 49

21. A car moves at 72 km/h after repairing and moves
at the speed of 54 km/h before repairing. It covers X
distance in 6 _h after repairing. How much time (in
hours) will it take to cover 3X distance before
repairing?

DO BT S03T Zod 72 3de / ro Jende
FODIE DA DOY DS Fesew 54 Sve /
Ro Feridd BODIT. DO =BT 033 6
Rodnvd amd X GeosR) ©BORIE. B
SRS FeTen 3X BEOIRY, FATD @, BROD

(Motinve) Srichdewy3c?  [SSC CHSL 2018]
(a) 20 (b) 24
(c) 18 (d) 21

22. Azhar can complete a journey in 10 h. He travels the
first half of the journey at a speed of 21 km/h and the
remaining at 24 km/h. Find the total distance (in km).

R0° 10 HotInde @)t Speserin PBVBD.
V3D Bodeed SeBUerdrady, 21 e / ro
Jens) DB vdd 24 e / no SJend

@oﬁmda’nz@d : 2E), dradddg( F0RHBNO
(3enFe). [RRB NTPC 2016]

(a) 234 (b) 224

(c) 225 (d) 232

23. The distance between two places can be covered

in37% h ataspeed of 62 km/h. If the speed is increased
by 8 km/h, how much time would be saved?

AT FYY IBDIT oSBT, 62 km/h ez

3 %h3O FVIBD. Seiswy Aoedrt 8 dcbe
BYATT, o), IDW CVITIVTHBE?

[RRB ALP 2018]
(b) 20 min
(d) 15 min

(a) 24 min
(c) 30 min

24. Rajesh can walk at 5 m/s and cycle at 20 m/s. He
takes 45 s to cover a distance of 600 m using a
combination of the two modes of transport. How long
did Rajesh cycle?

owde 5 m/s 3O I DB 20 m/s IO
BB IBBDD®. 0D @O IR
BookeesSabr w¥REROD 600 e BeOBY,
ZDRY BB 45 FRYRY SRDEPNTIS. Twdee
oR) BRB) B8LF LBITDH?

[UP Police Constable 2018]
(a)15s (b) 20s
(c)25s (d) 26's

25. A person goes to a mall from his house on a cycle at
8 km/h and comes back to his house on a cycle at 6

Pa

Copyright © All Rights Reserved | https://www.spardha.guru

www.spard-ha.guru
No 8, 24th Block Manasi Nagar Beside of Bliss
0 serviced Apartment, Mysuru, Karnataka 570029

info@spardha.guru
90711 54445, 90711 64446, 90711 74447




10 Years of Excellence

S&imsrbd)

Spardhaguru India Private Limited

o spardhaguru2022 o Spardhaguru Current affairs

ﬁ SpardhaGuru

rojSpardha.guru M  www.spardha.guru

Distance

X' Spardhagurul

Spardhaguru India Private Limited
SGIPLCECC ML Time, Speed and

Vedic

Mathematics

km/h. If he takes 1 h 10 min in all, what is the distance
between his house and the mall?

22 F3ody 37 HIMWoB Feerrt 8 e / o
R, 8RO Beerbmad R 6 e / Ho FBRY

33, DI HoZDrdEes. 3D W, 1 no 10
ADA BRDHBROBT, BT DI DR e IBDAIR

©0S8T OR)? [SSC CPO 2019]
(a) 8 km (b) 4 km
(c) 5km (d) 6km

26. Kiran swims in a 90 m long pool. He covers 180 m
in 1 min by swimming from one end to the other and
back along the same straight path. Find the average
speed of Kiran.

30s° 90 e NEd Be¥EnBiNSICI SR 1

ALRIBO 180 e O, oW DAMNOT ¥R, 0
O D) ©de Jed DorBY BT OB

ZAWTIT. 30 J00 Seria, Sow@EBAO.

(RRB Group D 2018)
(a)3ms? (b) 180 ms™t
(c)o ms™t (d)4 ms™t

27. A car covers the first 39 km of its journey in 45 min
and the remaining 25 km in 35 min. What is the average
speed of the car?

20 Zod S B)0eed SeBL 39 3end, 45
ABINFY D) QLT 25 3ENFRY 35 ADHEMHO
ZHDDBST. S0 Foe0 Fert a),?

[Punjab & Sind Bank PO 2011]
(b) 64 km/h
(d) 48 km/h

(a) 40 km/h
(c) 49 km/h
(e) None of these

28. A truck covered first 150 km at a speed of 50 km an
hour and then covered the remaining 150 km in 2 h.
Find its average speed.

w0 33 Sede 150 dveriw'd roedrt 50 dcbe
SeNBY FWID D) SoST LB 150 SceriwsD
2 nogdnvd FcdD. w33 JoR0  SenS,

S0RHBAO.

(a) 63 km/h
(c) 37 km/h

(SSC FCI 2018)

(b) 45 km/h
(d) 60 km/h

29. A bus travels at an average speed of 50 km/h for 2

% h and then travels at a speed of 70 km/h for 1 % h.
The average speed of the bus (in km/h) for entire
journey is

20R.- T BTRO-50 km/h derﬁd@m 2% h i} 80033

) ®o3S 1 % h 1§ 70 km/h SendO BORSS.

TOZPRE  D0etaZe N VIR ToeRO  Fer
S0 B0 (Sche/rIoRA). (SSC CPO 2013)

(a) 59.5 (b) 60

(c) 62.5 (d) 57.5

30. Puneet goes to his office at the speed of 60 km/h
and return to his home at the speed of 90 km/h. What
will be the average speed of Puneet for the whole
journey?

QAeF B3 B3Ot 60 e / ro Ferd
BeerhEN @) 90 e / no Send 3 DIt
HOSDNHTIN. VBe DY) e JoeRO Sen

ORTVTWD? (SSC (10+2) 2019)
(@) 20 km/h (b) 25 km/h
() 72 km/h (d) 30 km/h

31. A bike goes a certain distance at 40 km/h and
comes back the same distance at 24 km/h. What is the

average speed for the total journey? p
a
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0@ &5 0@ JIDFR, CACINY 40 dbe / Mo
St Feerb3d ) et FCTO 24 3de /
HoRO 03T, 2e, Foens Joemd e

OR)? (SSC CGL 2017)
(a) 32 km/h (b) 28 km/h
(c) 34 km/h (d) 30 km/h

32. A car travels at the speed of 50 km/h for the first
half of the journey and at the speed of 60 km/h for the
second half of the journey. What is the average speed
of the car for the entire journey?

200 BB Byaeed BeBUeEad 50 dve / no
Jen3Y D) Fodred HBealraZF R 60 e /
ro Sende) BODIS. @Be Z0dre68, 5203 Foexd
3ert oR)?

(a) 54.54 km/h
(c) 50.5 km/h

(RRB NTPC 2016)

(b) 36.36 km/h
(d) 45.45 km/h

33. Suresh started his journey from P to Q by his bike
at the speed of 40 km/h and then the same distance he
travelled on his foot at the speed of 10 km/h from Q to
R. Then, he returned from R to P via Q at the speed of
24 km/h. The average speed of the whole trip is

DTe3 P doB Q 1t 40 km / h SendY I3 23,53
@006 RY  BYTOPITD DB F0BT BD 3T
S50 8Rob® 10 km s/ h Feid a dod R 1
)093 TRD. F0BT ID R 0B P 17 LoSDHATRD.

24 km/h SeNBY Q Swew3. VBE FTRT JTRO Sen

OR)? [I1B Security Assist. 2017]
(a) 18.5 km/h (b) 19.8 km/h
(c) 18.2 km/h (d) 19.2 km/h

34. Bala travels first one-third of the total distance at
the speed of 10 km/h and the next one-third distance
at the speed of 20 km/h and the last one-third distance

at the speed of 60 km/h. What is the average speed of
Bala?

WL e, BRTE SpTY BT 20T NS
10 3e / ro Sende 3B FwodI Jwede 20D
Jonada), @edaRy 20 e / ro Sendd D)
geJdodh BwedTe 20w BSOS 60 e / o
Sty BODST. weud JoeRD e a),?

[IB Security Assist. 2017]
(b) 19 km/h
(d) 12 km/h

(a) 18 km/h
(c) 16 km/h

35. A man travelled four equal distances of 3 km at
speeds of 10, 20, 30 and 40 km/h respectively. What is
his average speed (in’km/h)?

22, ERDE, FIdaen 10, 20,30 B 40 Sde /
do ‘Feridd 3 sde o), IFIPN TN,

AT, VI3 Foo0 Jert o), (3De/MoTY)?
[Delhi Police Constable 2017]

(a) 14 (b) 19.2

(c) 22.8 (d) 16.8

36. A bus started its journey from Ramgarh and
reached Devgarh in 44 min at its average speed of 50
km/h. If the average speed of the bus is increased by 5
km/h, how much time will it take to cover the same
distance?

WOT WA ToNERT  BF  F0eeas )
D9B0NID D) 44 AAINYY 33 Joesd 50
dve/mo  JendY  BeSNEIFY,  BewdD. WIS
R erTile) a?eﬁdﬁoq noedrt 5 3cbe BZITT, wde
DTSR, BT o), Jhad SrichdeRy3a?
[Corporation Bank PO 2010]

(a) 40 min (b) 38 min
(c) 36 min (d) 31 min
(e) 49 min Pa
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(@) 30 km/h
(c) 35 km/h
(e) None of these

(b) 20 km/h
(d) 36 km/h

37. A truck covers a certain distance in 8 h at the speed
of 63 km/h. What is the average speed of a car which
travels a distance of 120 km more than the truck in the
same time?

838 63 3e / ro Jend) 8 moedndd Abesy
BRTBIY FLDST. worde JHabay 35 N0z 120
3.coe Bed) B0 Byoderdds 003 JoeD Fen

OR)? [UBI Clerk 2011]
(a) 78 km/h (b) 72 km/h
(c) 84 km/h (d) 88 km/h

(e) None of these

38. A man covers a total distance of 100 km on bicycle.
For the first 2 h, the speed was 20 km/hiand for the rest
of the journey, it came down to 10 km/h. The average
speed will be

we) BB T3 w100 3.de  BRTBIY,
BTN, Seue 2rioedrt 20 dcbe Sendw), eved
Bodeeadd 10 3e Jerid, @edR). Josd Sen

OR), ADIT. [SSC CGL 2016]
(a) 12 Y2 km/h (b) 13 km/h
(c) 15 % km/h (d) 20 km/h

39. The average speed of a bus is three-fifth of the
average speed of a car which covers 3250 km in 65 h.
What is the average speed of the bus?

VTS Toesd JFeriy 65 roedndd 3250 cbe
ZADS ORI Joexd Iend odSe  Iwed
QoeNG. AR Vo0 Jert o),?

[Canara Bank PO 2010]

40. Average speed of a bus is 55 km/h. The average
speed of a car is 26% more than that of the bus, then
distance covered by carin8 h is

TN [oeR0 Jend noe3rt 55 3.cve. 30 Joemd
Seny wN0B 26% Ted), S033 8 Roedn¥) sodh

BT FeC oF)? [JTRB 2012]
(a) 568.4 km (b) 563.6 km
(c) 548.6 km (d) 554.4 km

(e) None of these

41. Ramesh walked.6 km to reach.the station from his
house, then he boarded a train whose average speed
was 60 km/h and thus the reached his destination. In
this way he took a total time of 3 h. If the average speed
of the entire journey was 32 km/h, then the average
speed of walking is

Oed’ BF DIWOT AU BB 6 Sce
SETD, S0BT BID GO, BIBD, VBT YOO
dert noedrt 60 3.cve. 85 OedadoN TD 2ed), 3
notdny SDHabSRY Srichdecdd. ale &0reed
0RO Jert roedrt 32 3e s8NFT, IBriah JoexO

Jert ox)? [I1B Security Assist. 2017]
(a) 5 km/h (b) 8 km/h
(c) 2 km/h (d) 4 km/h

42. A smuggler Veerappan is spotted by a policeman
from a distance of 200 m. When the policeman starts
chasing, Veerappan also starts running. Assuming the
speed of smuggleris 10 km/h and that of the policeman
12 km/h, how far will the smuggler have to run before
he is caught?

Pa
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W) FI0° AedB I, 200 e BRTVT ey,
HDHEDS.
©9,80dTN ci)edo—’%a‘ 38 LB DYTODRDSI.
3YTnmoeds den noedrd 10 e )
2PN Jent noedrd 12 3e 20D WdATT,
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(a) 10 km
(c) 1 km

Dpede® DL ZSR&E%O.)

[RRB Group D 2018]

(b) 2 km
(d) 5 km

43. Two men A and B run 4 km race on a course 0.25
km round. If their speeds are in the ratio 5: 4, how often
does the winner pass the another?

o DB D WD YDHID 025 e [DEIY 4
e LB, LS. ©I3  Iendy 5 4
ODTISBOFT, Fe3D @ix@(%da{& o), W0

T @eerhSeT? [CDS 2016 (11)]
(a) Once (b) Twice
(c) Thrice (d) Four times

44. Two cars A and B start simultaneously from two
different places and travel towards each other. They
arrive at their destinations after 4 h and 6 h
respectively. If the speed of car Ais 48 km/h, then what
is the speed of car B?

ARDI) BoSD e odd MF BYnReos
585080 T3BoLTINTS DR BT BODTS.
OSD e 4 rioed DA 6 rociab So3T I,
RamRnva) Sw®Eed. A0 Serid) 48 km/h

©8NZ3, B 5203 et a? [MAT 2013]
(a) 36 km/h (b) 40 km/h
(c) 32 km/h (d) 28 km/h

45. Anita goes to college at 20 km/h and reaches
college 4 min late. Next time she goes at 25 km/h and
reaches the college 2 min earlier than the scheduled
time. What is the distance of her college?

dze Foddedrt 20 dve/motdn @eerhzey @) 4
ADA BBZN FofeRd) SWRBeY. SO 20
o3 notdri 25 3e JnTY Teerdzey D)
ANO3 B33 2 AdE B3N Seefewn

BWRYTY. TY SefedT ©o33 OR)?

[IB Security Assist. 2017]
(b) 12 km
(d) 10 km

(a) 16 km
(c) 15 km

46. Shri X goes to his office by scooter at a speed of 30
km/hand reaches 6 min earlier:If he goes ata speed of
24 km/h, he reaches 6 min late. The distance of his
office is

3e Xz 30 3be/rotd Sendd Re,tt’SY ST
B3edrt Beerbzed DB 6 AR Fwod3aaN
SPBT. BB roedrt 24 e IenTO EBeedT,
3D 6 ADR 3B BRI, ¥I3 SeIedad

©0ST OR)? [SSC CGL 2011]
(a) 20 km (b) 21 km
(c) 22 km (d) 24 km

47. Walking at a speed of 5 km/h, a man reaches his
office 6 min late. Walking at 6 km/h, he reaches there
2 min early. The distance of his office is

5 3de/ro SFendd Idodwzg, we) Fdody IF
Se3elobR, 6 AR SBHN BB, roedrt 6
3 end) SBWWD, STD 2 AT FwoedBeyeN

O SWwPST. 33 BeIedad oS3 OW)?

[SSC MTS 2013]

(a) 2 km (b) 3 km
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(c)4 km (d) 3.5 km A Z¥80d P dhod @3oeirieod wod IS, Qn
BeeBD. A ke JDBY, B Jod P 33t
©900LHBT. 2w TR D 2feedadyerd 033, A
DI BN 3D, NayTINY) Sewzdw haen
48. Walking at 3 km/h, Pintu reaches his school 5 min 16 djd}, 25 Ro 5?32’ BRBe033 IRY Jena

late. Next time he increases his speed by 1 km/h, then
he will be 5 min early. The distance of Pintu's school
from his house is (@)3:2 (b)5:4

noedrf 3 e Seid) IBDEROD Do I, (e) Ut (IS
ZodabR 5 ANE BN SwRTS. SRS
200 B B3, Sertay 1 8we/no Beyddeowen,

OB 5 AR FWoLBTNDTN. ST DI
S0td TS RS Wed om)?  [SSCCGL 2011]

IRNTIBR) QE’&()J?

(a) 1% km (b) 2 km
(c)27% km (d) 5 km

49. 1 A student goes to school at the rate of 2 Y% km/h
and reaches 6 min late. Next time, he increases his
speed by 1/2 km/h then, he reaches 10 min early. The
distance (in km) between the school and his house is

1 Jdoydraiy rHoedrt 2 % e Seidd zodrt
BRDHTIN DB 6 Ada 3BDN BWPYBR.
SwoBI WD, ¥SD B, JenaIy 1/2 3dve / ro
DYDY, $0383 3D 10 AR SwodSwen
BOR)TN. Do DR [T DI FDIS o33

QR)? (3erw). [SSC CGL 2011]
(a)5 (b) 4
(c)3 (d) 1

50. A starts from a place P to go to a place Q. A As same
time, B starts from to P. If after meeting each other, A
and B take 16 and 25 h more respectively to reach their
destinations the ratio of their speeds is Pafe | 9
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